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Guess Paper – 2009

Class – XII
Subject – CHEMISTRY

      

Max. Marks: 70                               

           

   Time: 3 Hours 

General Instruction.

(i) All questions are compulsory.

(ii) Marks for each question are indicated against it.

(iii) Questions number 1 to 8 are very short-answer questions and carry 1 mark each.

(iv) Questions number 9 to 18 are short-answer questions and carry 2 marks each.

(v) Questions number 19 to 27 are also short-answer questions and carry 3 marks each.

(vi) Questions number 28 to 30 are long-answer questions and carry 5 mark each.

(vii) Use Log Tables, if necessary. Use of calculators is not allowed.

(viii) Question Paper contains 5 printed pages.

(ix) Do the calculations neatly on the right-hand side of the answer sheet.

	1
	A compound is formed by two elements X and Y. The element Y forms hcp lattice 

and atoms of X occupy ⅓ rd of tetrahedral voids. What is the formula of the compound?
	1

	2
	Account for the fact that starch sol can be prepared easily while gold sol cannot be.
	1

	3
	Name an element which is refined by zone refining.
	1

	4
	Why is sugar getting charred on contact with concentrated sulphuric acid?
	1

	5
	Give an example each of a nucleophile and an electrophile.
	1

	6
	What do you understand by the term glycosidic linkage?
	1

	7
	Is –[CH2-CH-(C6H5)]n – a homopolymer or a copolymer? 
	1

	8
	What is the limitation of aspartame as a sweetening agent?
	1

	9
	Calculate the mole fraction of benzene, C6H6, in a solution which is 30 % by mass in 

carbon tetrachloride, CCl4. [H = 1u; C = 12 u; Cl = 35.5 u]
	2

	10
	What is the current strength in ampere required to deposit 1.27 g of Cu from a solution 

of  CuSO4 in 1.5 hours. [Cu = 63.5 u; 1 F = 96500 C]
	2

	11
	The gas phase decomposition of N2O3 to form NO2 and NO is a first order

reaction with rate constant k = 3.2 x 10-4 s-1.

How long would it take for the reaction to reduce the initial [N2O3] of 1.0 M to 0.20 M?  
	2

	
	OR


	

	
	Calculate the value of activation energy, if rate of reaction doubles when rise in 

temperature takes place from 295 K to 305 K. [R = 8.314 J K-1mol-1]
	

	12
	Account for the following:

(a) Iron is extracted from its oxide ore by chemical reduction while aluminium is extracted from its oxide ore by electrolytic method.

(b) Reduction of a metal oxide is easier, if the metal formed is in the liquid state at 

      the temperature of reduction.
	2

	13 
	Draw the structures of the following:

(a) ClF3
(b) Red Phosphorus
	2

	14
	What is lanthanoid contraction?  How would you account for it?

Name two of its important consequences?


	2

	15
	Predict the major product in the following reactions:
(a) CH3CHClCH2CH3
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(b) C6H5NH2                    
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	2

	16
	Account for the following:

(a) The reaction of aryl alkyl ether with hydrogen halide always produce phenol and alkyl 

       Halide and not a mixture of aryl halide and alcohol.

(b) Fermentation stops once the amount of alcohol exceeds 14 percent.

	2

	17
	(a) Give the chemical equation for the preparation of Nylon-66.

(b) Give the structures of the monomers of buna-N.
	2

	18
	(a) Write the formula and IUPAC name of aspirin. Why should it not taken on an empty stomach?
(b) Differentiate between bactericidal and bacteriostatic antibiotics. 
             Give suitable examples.
	2

	19
	Account for the following:

(a) Do crystals of  NaCl exhibit Frenkel defect. Give reason for your answer.

(b) Silicon doped with phosphorus is a semiconductor.

(c) Amorphous solids are also called super cooled liquids.

	3

	20
	The freezing point of a solution containing 0.3g of ethanoic acid in 30 g of benzene is depressed by 0.45K.  Calculate the van’t Hoff factor of ethanoic acid. What can you 

say about the nature of ethanoic acid in benzene? 
[ Kf (C6H6) = 5.12 K kg mol-1; CH3COOH = 60 g mol-1]
	3

	
	OR


	

	
	(a) Distinguish between molarity and molality.

(b) What do you understand by ‘colligative property’?

(c) What is reverse osmosis?
	

	21
	(a) What is the value of the equilibrium constant for a reaction in which Eo = 0?

(b) Calculate the voltage produced by a Daniell cell in which [Zn2+] = [Cu2+] 

      Given:  
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	22
	(a) What is meant by pseudo first order reaction?

(b) Sketch the potential energy diagram which might represent an exothermic 

      reaction with and without a catalyst.


	1

2



	23
	(a) Account for the fact that electrodialysis is faster than simple dialysis.

(b) Explain the term ‘peptization’.

(c) Give the sign of ΔH and ΔS when bromine gas is adsorbed on charcoal.


	3

	24
	Account for the following: 
(a) Transition metals and their compounds are good catalysts.

(b) Transition metal ions have high enthalpy of hydration.

(c) A transition metal exhibits higher oxidation states in oxides and fluorides.


	3

	25
	(a) Using IUPAC norms, write the formula for the following complex

      pentaamminenitrito-O-cobalt(III)chloride.

(b) How will you distinguish [Co(NH3)5 (SO4)] Br and [CoBr(NH3)5] SO4 

(c) What do ‘inner octahedral’ and ‘outer octahedral’ mean in hybridization?


	3

	26
	An organic compound ‘A’ (with the molecular formula C5H8O2) is reduced to pentane 

on treatment with Zn-Hg / HCl. ‘A’ forms a dioxime with hydroxylamine and gives a positive iodoform test and Tollen’s test. Deduce the structure of ‘A’


	3

	27
	(a) Draw the Haworth ring structure of  α –D- glucose.
(b) Write any two differences between DNA and RNA.

(c) What is meant by denaturation of protein?


	3

	28
	(a) How will you carry out the following conversions?

(i) Propanoic acid to ethanoic acid

(ii) Nitrobenzene to benzene

(iii) 2-bromopropane to 1-bromopropane
(b) Illustrate the following reactions with an example each:

(i) Reimer-Tiemann reaction

(ii) Wolff-Kishner reduction


	5

	
	OR
	

	
	(c) How will you distinguish the species in each of the following pairs:
(i) Aniline and N-methyl aniline.

(ii) Propan-1-ol and 2-methylpropan-2-ol

(d) Complete the following with appropriate chemicals/reagents.
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	29
	(a) Give the IUPAC name of CH3CH2CH2N(CH3)2  

(b) Why is aniline a weaker base than methyl amine?

(c) Complete the following reactions:

(i) CH3COOH 
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(ii) C6H5 –CH2CH3 
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(d) How will you distinguish benzoic acid and benzaldehyde?

(e) Why do carboxylic acids not exhibit the properties of carbonyl compounds?

(f) Illustrate the following with an example each.


(i) ketol condensation 

(ii)      cannizzaro reaction





	5

	30
	(a) Why is SO2 an air pollutant?

(b) State two important uses of noble gases

(c) Draw the structure of H2S2O7.
(d) How is ammonia manufactured?

OR

(e) Why is NH3 a liquid while PH3 a gas?

(f) Complete and balance the equation, Ca3P2  +  H2O →

(g) Compare the oxidizing power of Cl2 and F2.

(h) Are all the five bonds in PCl5 molecule equivalent? Justify your answer.


	5


(End of the Question Paper)
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